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my =750 GeV my = 1000 GeV
x = 0.05 x = 0.50 x = 0.95
0 0.08 £ 0.06 0.07+£001 010+002 0.13+0.02
1 0.2240.10 0214002 027+£002 029 +0.02
2 0.10 £ 0.06 0114£001 0164002 0.1140.01
3 0.42 +0.14 0294002 033+£003 030003
4 0.00 == 0.00 0.024+0.01 003+001  0.0240.01
5 0.59 + 0.15 1.04+£005 1.06+005  0.62+0.04
6 0.00 == 0.00 0074001  014+002  0.20+0.02
7 0.10 £ 0.06 0374003 059+£004 0.61+0.04
8 0.18 £ 0.08 0124001 019+£002  0.22+0.02
9 0.39 +0.13 0494003 072+004  0.63+0.04
10 0.04 + 0.04 0.014+0.01 005+001  0.08+0.01
11 1.55 +0.25 2114006 3.06+0.08 2.52+0.07
12 0.40 +0.13 1484005 2654008  7.99+0.13



